
In[136]:= ListPlot[sorted]
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In[122]:= ListPlot[Table[sorted[[n]], {n, 1, 100}]]
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In[123]:= ListPlot[Table[sorted[[n]], {n, 101, 200}]]
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In[124]:= ListPlot[Table[sorted[[n]], {n, 201, 300}]]
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In[125]:= ListPlot[Table[sorted[[n]], {n, 301, 400}]]
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In[126]:= ListPlot[Table[sorted[[n]], {n, 401, 500}]]
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In[127]:= ListPlot[Table[sorted[[n]], {n, 501, 600}]]
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In[128]:= ListPlot[Table[sorted[[n]], {n, 601, 700}]]
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In[129]:= ListPlot[Table[sorted[[n]], {n, 701, 800}]]
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In[130]:= ListPlot[Table[sorted[[n]], {n, 801, 900}]]
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In[131]:= ListPlot[Table[sorted[[n]], {n, 901, 1000}]]
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In[132]:= ListPlot[Table[sorted[[n]], {n, 1001, 1100}]]
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In[133]:= ListPlot[Table[sorted[[n]], {n, 1101, 1200}]]
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In[134]:= ListPlot[Table[sorted[[n]], {n, 1201, 1300}]]
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